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L. Analysis of %1 m272 Rnavin (relating to M7 on N210 and 259%)
a.  When he makes: his own 1210, he recites »mnw (1)
b. And then: when he enters it on V"V, he recites n2102 2vY 17apR
c.  If:it was already standing, if he can innovate something about it, says 1372
i. If not: when he enters it, he says both (12101 2v°% nr1)
ii. ’wN ’7 saw K13 1 making all of them over the v of V1P
II.  xn»7a - dispute N "/0'ndN about performing multiple nygn
a.  D’pom. recite mxnn Yy 1"apR
b. /7mi ’1. each one deserves its own 1372
i. Source: v.1 —just as each day brings unique things for which to bless, similary with nnxn
c.  Aggadic tangent (same trident): interpretations of vv. 2-3 regarding ability to “listen”
III. Analysis of the next clause in the mwn — status of » Nk on 7t day (children would eat it)
a. 2y /7 MInR is “off-limits” on 7™ day, but permitted on 8™; n310 is MR even on 8™ day
b.  57w7 »InR is permitted even on 7t
i. Analysis of dispute: whether »nR is mxn> n¥pn or for entire day
ii. Challenge (775 5”): our mwn implies that NINR is permitted on 7" day
1. Defense (j2n1 77): mwn explicates mpwn >adults are forbidden
iii. Note: alternate version, where 7 uses mwn (with implication) as challenge; 9" extends to D>
c. Question (7ax5 977): why does » distinguish between 1515/n210?
i. Answer: N0 is fit for v”n’a (going into 8 day) — if he needs to eat, eats in N2 RNV 1935 N¥pmn
d.  Further opinions: "5 forbids »7nk even on 8t day; YRnw’s father agrees with 301 "7 (permitted only on 8)
i.  Switch: YRnWT Mar adopted 1Y’s position; X111 adopted YR1wNT Mar’s position
1. r7rif an »INR becomes 09, it may not be eaten for all 7 days
a. Tangent: 1" ruled that may not gift a 299 to child on 1t day —can’t be nipn back
b. Tangent: 1”1 ruled that one shouldn’t make emptry promises to child —
i. Reason: teaches him to lie (v. 4)
. Note: oR "1/27 (regarding nr¥pn of MInR if set aside for one day) parallels 5™/
f.  Practicum: in 911, we have 2 days of an (»"nv) —
i. Therefore (7a8): 8t day ('»aw pav) it is MOR; 9t day (*1nW 190) IMN
ii. Dissent (79711): permitted even on 8™ day (’»’aw 190) — but we all rule per »ar
IV. Discussion are: 1210 mxn on v pav mw
a. 27 YW is "na1aY »onw ,nnod v’
b. vy mH nw”
i. Analysis#1: all agree to sit in N210; 17 - "N210Y "WaV” > N2
1. 9277 73109 YPNY” Sno n37a
a. qo» 27 we follow 110y '3, per story of 1171 "5 who sat w/o n>1a
i. Challenge: perhaps they followed opinion that we only make 1372 once
ii. Answer: we know that they had not been in n31o all week
ii. Analysis#2: all agree that we don’t make n273; dispute is re: sitting in n2yo at all
1. pnv 7z "9 mYornw” >don’t sit in oo at all
a. 9op 27 the one who reported it himself did not sit in n210 on 8* day
b. Practicum: we sit in 1910 but do not recite the 7272 — 1173721 RY 2172 137200 1IN
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